BREBRIBESE (O ADLFEK)

S (ha) % %
i X 2 BY 4% O & i _ THIR
B @ e F = sER(ry | PLHE
@ & £ — | WFENm 444.0 = 444.0 9,202.0m 61,561 | 542 ~ S44
Bk | TIEM 209.0 - 2000 | B KB 177 60.980 | 542 ~ 545
6,798.0m
f@ & % — | WFm 257.0 — 257.0 5,029.0m 38,456 | 543 ~ 545
T = H= | lNFEm 201.0 - 2010 | R » F 140 88,090 | S44 ~ S45
@ & & = | WFm 361.0 = 361.0 5,015.0m 69,568 | 545 ~ S46
= H | EFm 205.0 = 205.0 500.0m 25,692 S47
B ' =Em 22.0 = 22.0 700.0m 4,840 S47
I\ X & | iFm 40.0 = 40.0 300.0m 12,640 | 548 ~ S50
. _ ® > 7 14Ff .
A L | 2<LIEH 35.0 35.0 = ge 600.0m 35,580 | 548 ~ S50
== / & | 2<IEm 50.0 = 500 | zxvhk271xA 843.6m 8,000 H4
e | o<IdH 25.0 —~ 250 | =wbhT7T/A 898.7m 100 H6
i g | o<IEH 25.0 —= 250 | zwhT7 A 856.3m 10,000 H7
5 JI | L5Em 27.0 = 270 | =zv k272 A  800.0m 10,000 H9
Ll T | <& 70.0 17.0 87.0 | FREERE R im 14 97,000 | H9~H10
X H | G 350 o 350 | & B3 1,500.0m 120,500 | H11 ~H13
K | ET 83.0 = 83.0 | HF K B 1,260.0m 257,300 | H11 ~H17
F % K| 2<KIEH 8.0 = 8.0 |H & B 972.0m 38,1700 | H12 ~H14
= IR Gil 5.0 - 50 |8 XK B 780.0m 23,400 | H12 ~H14
& | 2<KIEH 5.0 = 50| H K B 895.0m 32,100 | H12 ~H14
(8} | Em 83.0 = 83.0 | M 145Ff 36,360 | H20 ~ H21
P 1B | g HhHS5H 55.0 — 55.0 | K EHIE 546.0m 67,200 | H20 ~H21
# BF. 2KIEHS L 142.0 - 142.0 | |\BKKRYT 14Ff 80,200 | H20 ~H22
A 8 | sram. B, DLIEH#5 171.0 = 171.0 | BRI TF 14Fr 110,000 | H22 ~ H24
231K
FAN
NERFRIFRI LN RS
S (ha) S s
X 2 BT it THIR
aa = 8 en F = B sEp(Tm | P08
' b = | T HHSSH 10.0 — 10.0 | XX & ¥ #E 9.7ha 190,130 | 557 ~ S61
BERER{R(EESZE (BEKH))
SasEi (ha) S %
ih X % : == _ 5
St i B 10 & F—— s=nem | PLAR
m T [ o<Em® 87.0 - 870 |l E # 157 97,000 | H9~H10
R 21 - - Akt i (=] .
T B A BB o<KIETH 90.0 90.0 BOm e 15 64,252 | H13 ~H14
: _ Ak & N
i H | LEm 98.0 98.0 B m g 25 39,300 | H13 ~H14
B i | o<dm 854.0 1 8540 | EEkAEER P 59.300 | H14 ~H15
St 4K
ERs=iE(EESEEE (T ithis)
ZaE (ha) S %
X % % : = _ 5
Gl Ll o 10 & = % = sERTm | PN
" _ K@ E 10.0na B
= | Ol 10.0 10.0 = & 2.966.0m 141,900 | 552 ~ Sh4
- \ B X@®E 40.4ha N
piz] = 8 | 2<IEH 40.4 40.4 = = 1.890.0m 154,100 | 554 ~ S57
_ _ X E 2 2.3ha B
th P | Gl 2.0 2.0 = & 2.488.0m 173,400 | 555 ~S62
= _ X @ 10.0ha ~
E = | GiEm 10.0 10.0 = - 1.000.0m 151,000 | S53 ~ Sh6
: \ K@ %@ 42.0na N
a8 1B | 2<IE™H 3.0 39.0 42.0 EeEs 1.148.0m 16,300 | 556 ~ S61
BB B 3| o<IEmm 2.0 35.0 370 | X B £ 18 36.0ha 65,300 | 557 ~ S61
o - K@ %2 16.0na N
=2 L[EHFS5 T 16.0 16.0 B = 5 14.0ha 95,500 | S57 ~S62
A g 7B OB | BfEm 28.0 = 280 KB # B 28.0ha 269,000 | S58 ~ 563




BREER(HESRSR () 03%)

SEE (ha) S fzs

X B8 % BT A - = 5 > sEme | ELMM

= 1 M| o<Easnm 300 " 300 KEEE 30.0ha 236.300 | 558 ~ 562

= N HASEH 240 = 240 K@% E 23.8ha 335,900 | 560 ~ H 2

g KO 4.0m
Ry | o<W - 30.0 30.0 g K E 1,233.8m 190,430 | S61~H 3
T oA B | o<@Em 13.0 - 130 |# X #  1,3920m 50,000 | 63
BN - A H | F£AH. <K& 430 " 43.0 - 153,000 | 548 ~ 550
= % | o<i3h N 1.0 11.0 = 93.200 | Ht~H 3
4R
BERBHEESSE (1F152m)
SiER (ha) 23 *

X & B8 4% 5 BT A = = - — = SwEeg | B
MEE A 2460 = 2460 | KEE®  246.0ha 20,900 | 527 ~ 530
w = @ tan 49.0 - 490 | FEE 2 49.0ha 4,709 | 528 ~ 529
= FAEE T 83.0 = 830 | X @ % & 83.0ha 11,024 | 528 ~S30
W @ | e 100.0 - 1000 | XK@ ®®  100.0na 5,700 | 528 ~ 530
IIERAN=A# | BET 171.0 = 1710 K@E#®  171.0na 19.922 | 528 ~ 31
& # | mFEm 126.0 - 1260 E@EE  1260ha 50,840 | $32 ~ 539
= & | mEm 129.0 = 1290 K@= ®  129.0na 13,100 | 534 ~ 537
I 186.0 = 1860 | K@= #®  186.0na 18.850 | 534 ~ 536
® = F on|tAEm 550 - 550 | X @ % B 550ha 29.038 | 35~ 539
MERAAE 3190 = 3190 | R@E = 3190ha 62,080 | 538 ~ 543
® = o 7| tAn 11.0 - M0 | RBERE 11.0ha 7,850 | 538 ~ 539
& P B|hdxnssm 59.0 = 500 | X @ % & 59.0ha 9968 | 539
= & | o<IET 76.1 - 761 | X @ % E 76.1ha 56,149 | 541~ 543
B B R E| <& 390 - 390 | REEE 38.8ha 27,450 | 541 ~ 543

5 ><iETh 791 = 791 | R E &2 79.1ha 69,280 | 541 ~ 542
Y B | o<z 322 - 322 | REEE 32.2ha 47.800 | 542 ~ 546
* B R F W | o2 138.0 40.0 1780 K@ E®  178.0na 155,803 | 543 ~ 547
P /@ | o<IEr. 2<EHSLD 53.0 - 530 | X @ & 2 53.0na 61,950 | 544 ~ 546
= /@ | o<IFT. < EHSLH 290 - 200 K@% B 29.0ha 15600 |  sa4
I % | BEm 350 - 350 | X @ % & 350ha 38,054 | 545 ~ 547

@ Bmh 350 - 350 | RE %2 350nha 75011 | 546 ~ 547
= 7 | iR 50.0 = 500 | X @ % & 50.0ha 59,003 | 546 ~ 548
I & | cEm 250 = 50 | XEEE 25.0ha 78,550 | 547 ~ 548
I E | pmth 51.0 » 510 | X @ % 2 51.0ha 163,698 | 547 ~ 551
E & t B|&mh 230 - 230 KB E B 23.0na 31,500 | 547 ~ 550
I 15 | GEm 107.0 50 1120 E@E#®  1120na 282112 | 547
TN 420 - 20| RmEBE 42.0ha 180,050 | 547 ~ 549
* & | o<2Th 220 - 220 K@% B 22.0ha 21,440 | S47 ~ 548
e % | amh 520 70 500 | X @ & B 59.0ha 152,400 | 548 ~ 551
E B | &m@m 47.0 7.0 540 | R @ % B 54.0ha 235,071 | 548 ~ 552
5 B | o<idm 50.0 = 500 | X @ % 50.0ha 152,181 | S48
@ NEE 42.0 - 20| FEEE 42.0ha 208,184 | 549 ~ 552
T R | BEm 280 = 280 | X @ & B 28.0ha 140,100 | 549 ~ 552
¥ @ @ W Emn 16.0 - 160 | X @ % 16.0ha 93.130 | 549 ~ 551
& % | 7o 57.0 - 570 | X @ % B 56.6ha 184,250 | 549 ~ 552
F & 2| &mh 61.0 & 610 | KB ERE 60.7ha 256,400 | 550 ~ 54
5 B | Bmm 390 - 300 | REE B 39.0ha 248.900 | S51 ~ 554
* % | B 490 — 490 | REEE 49.0ha 309,000 | 552 ~ 554
Z B 1t || emh 230 - 230 KB E B 23.0na 225,600 | 552 ~ 555
S E | heans5m 51.0 - 510 | X @ % 8 51.0ha 340,400 | 53 ~ 56
5 = [ hapns6m 13.0 - 130 RBEE 13.0ha 177,700 | 555 ~ 560
B # $ &|pdanssm 8.0 - 80 | X @ % 2 8.0ha 165.000 | 55 ~ 559
i * | D<IEm 40 26.0 300 | XK@ % B 30.0ha 62.000 | 556 ~ S60
B 5 | o<z 10 50 60 | X @ % & 52ha 50,000 | H11 ~H13
T & | o<Em 10.0 = 100 | R @ % & 10.0ha 78,500 | H17 ~ H21

451K




